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4.4 Problems
Question 1. Evaluate the general indefinite integral.
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Question 2. Verify that the formula: / cos® x dx = sinz — 3 sin®z + C

1s correct. .

>
Hol(glny_'gsjﬂ»c) = WX = Sn K b X
‘ 91"\73()

= 1,017(“-
2
=X W X

A2
% . _ g'i-, )(
—+hp antr olu{uw/w‘ug OT Ly Xoad ShX - ¢ =+ C

S0

MSU ]



































MTHI132 - Examples

8
Question 3. If //(t) the the rate of growth of Ryan in inches/year what does / h'(t) dt represent?
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Question 4. Water flows from the bottom of a storage tank at a rate of r(¢) = 10 — 2¢ liters per minute,
where 0 < ¢ < 5.

(a) After a minute a 10 liter bucket is placed under the storage tank to catch the water. How long until the
bucket starts to overflow?

o = Jl}(/wbé)ou: = (/ot~+}>{/A = Job-b'=(ro-])
/

&) Bt_wb 19 =0

b= g+>Kg ov $=dg run

(b) At ¢t = 4 another 10 liter bucket is placed under the storage tank to catch the water. How much water
does this bucket have in it at the end? t=
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